=
<

(0 @) (rad)
o(d cot(v))

H
S
o

- E AN EHS £ F A . eeeeeeaeeemeaeaaeaaaaan
EIREY
AT +
-
-+
-+
o E R SR R LR

1002 —bpba i L L .......! L .......! L inn .91()‘_—_% AEAAATAIEEA .......! L .......! L inn
B £ B : P I .. ------------ ' ------------ & 1---

BB ¥E.. i

o
)
TTTTTI T
o
)
TTTTT T

o
)

=
o
iN

2 3
1 TPlpoT (PCA t%obeamlinélf)

—=— DQM_mkFit_TT_baseline_6iter
—— DQM_mkFit_TT_RetrainV2_WP1_6iter

=

= =
= 1] r
5 5] -
2 = r
= =

> o> L
> b |
=2 =2

S 5 |

10_1::"

107}

2 F o E
= = F
TS 15K © E
@ + @ E
r P 0.9 F
1:_. T. o 2 7 0.8+ Sacdd - N s
o -+ r -+

o

[

o
iR

—1 2 3 2 3
10 ! TPlp?T (PCA t%obeamliné'f) ! TPlp?T (PCA tjbobeamliné'f)

o p/p.)

107

L F
A 1
14 = B Q] B i e et
o B
0.95F----T IR S (A e
o <+
.ot i i

o
h
=

: 2 3
1 TPlpg)T (PCA t%)obeamlin%)o



	Contents
	Page 1


